SERIE: POSUVNE BRANY

L] = i -‘ - f

illlllllllll!d

é | -. __ I II:I | | :II. - :. | .|[ ! I| i B 'gj ! [ . -
hhﬁ-a:- ..| YT il il II.I|.'I I ’..i_=lll I'-'; 1! \|| I RRE .;I'-
INEA T | it by - |
, g g 160 s NARY . '!EH] i I s

- pe el [ L R s

32 33



=
CAIS

SERIE: POSUVNE BRANY
SERIES: SLIDING GATE

SiNA .V~ PROFIL PRO POSUVNOU BRANU
A VRATA, K PRISROUBOVANI

U PROFILE GUIDE, FIXED, FOR SLIDING
GATES AND DOORS

6000

o{<o o
S s
oddi % s
<
290 2

34

SiNA .,,0” PROFIL PRO POSUVNOU BRANU
A VRATA, K PRISROUBOVANI

“Q" PROFILE GUIDE, FIXED, FOR SLIDING
GATES AND DOORS

AL 3 2
() (@) =
oD s

6,5X10+|

290

SERIE: POSUVNE BRANY Z

CAIS

SERIES: SLIDING GATE

SiNA ,,0” PROFIL PRO POSUVNOU BRANU
A VRATA, K ZABETONOVANI

0" PROFILE GUIDE, CONCRETED,

FOR SLIDING GATES AND DOORS

220

$ S

60

60 6000

22

WV 620
Wv 820
Wv 920
WV 1020

KLADKA SPODNI POJEZDOVA ,V” PROFIL,

JEDNOLOZISKOVA
“\V" GROOVED WHEEL SINGLE BEARING

D1
[ |
[ J
C

M

32 M12x50 92° 150 0,32 30 9,6

32 M14x55 92° 150 0,67 20 13,4
32 M14x55 92° 300 0,86 20 17,2
32 M14x55 92° 300 1,06 20 21,2

35




— SERIE: POSUUNE BRANY
({I‘S SERIES: SLIDING GATE

KLADKA SPODNI POJEZDOVA ,,0” PROFIL,
JEDNOLOZISKOVA
“0” GROOVED WHEEL SINGLE BEARING

N

80 59 24 32 M14x55 21 150 0,6 20 12
Wo 1024 100 79 24 32 M14x55 21 300 1,1 16 17,6

KLADKA SPODNI POJEZDOVA .,V” PROFIL
S VNEJSIi PODPEROU, JEDNOLOZISKOVA
“y” GROOVED WHEEL SINGLE BEARING,
EXTERNAL SUPPORT

WTV624 60 42 24 31 63 55 8 65 80 8 92° 100 05 12 6

WTV 824 80 64 24 38 84 74 9 9 16 15 92° 150 097 10 97

byl —

CAIS
KLADKA SPODNi POJEZDOVA ,,0” PROFIL
S VNEJSIi PODPEROU, JEDNOLOZISKOVA
»Q” GROOVED WHEEL SINGLE BEARING,
EXTERNAL SUPPORT

N

N

WT0625 60 42 24 31 65 55 8 65 80 8 19 100 042 12 504

WT0825 80 59 24 38 84 74 9 90 16 15 21 150 086 10 8,6

KLADKA SPODNi POJEZDOVA ,V” PROFIL
S VNITRNiIi PODPEROU, JEDNOLOZISKOVA
“y” GROOVED WHEEL SINGLE BEARING,
INTERNAL SUPPORT

D2
D1

WSV 820 80 64 20 31 59 18 9 1256 155 15 92° 300 09 12 108

WSV 920 90 75 20 31 64 18 9 125 155 15 92° 300 1,07 12 128
Wsvi1020 100 85 20 31 69 18 9 126 155 15 92° 300 128 10 128

37




=
CAIS

SERIE: POSUVNE BRANY
SERIES: SLIDING GATE

KLADKA SPODNi POJEZDOVA ,.V” PROFIL
S VNITRNiIi PODPEROU, DVOULOZISKOVA
“y” GROOVED WHEEL DOUBLE BEARING,
INTERNAL SUPPORT

D2
D1

WSV 1630 160 136 30 40 118 20 11 195 220 125 92° 600 46 2 92

KLADKA SPODNIi POJEZDOVA ,,0” PROFIL
S VNITRNi PODPEROU, JEDNOLOZISKOVA
~“0” GROOVED WHEEL SINGLE BEARING,
INTERNAL SUPPORT

C
D2
D1

SERIE: POSUVNE BRANY =
SERIES: SLIDING GATE ({I‘S

KLADKA HORNI VODicCi BiLA
WHITE NYLON GUIDE ROLLER

RW 26 26 40 82 M12 0,11 20 2,2
RW 32 32 40 87 M14 0,16 20 3.2
RW 42 42 56 108 M16 0,29 10 2,9

KLADKA HORNI VoDici CERNA
BLACK NYLON GUIDE ROLLER

ROB 36 RB 26 RB 42
RB 32
M
M
amma) C J
C 1T
M J
- C ) I
—_— 1 -
| — |
|
<
< <
ol
D1
D1 D1

38

WSO 824 80 59 24 31 59 18 9 125 155 15 21 300 085 12 102
WS0 924 90 69 24 31 64 18 9 125 155 15 21 300 1,04 12 12,48
Ws0 1024 100 79 24 31 69 18 9 125 155 15 21 300 13 10 13

ROB 36 36 34 M10 0,14 20 2,8
RB 26 26 40 72 M12 0,13 20 2,6
RB 32 32 40 72 M14 0,18 20 3,6
RB 42 42 56 108 M16 0,41 10 41

39



? SERIE: POSUVNE BRANY SERIE: POSUVNE BRANY 7
el SERIES: SLIDING GATE SERIES: SLIDING GATE el

CAIS CAIS
VEDENI BRANY HORNI S JEDNODUCHOU VEDENI BRANY HORNI S DVOJITOU
REGULACI, DVOUKLADKOVE REGULACI, CTYRKLADKOVE
TWO ROLLER GUIDE PLATE ADJUSTABLE FOUR ROLLER GUIDE PLATE

42
T
I

42

MIN. 33
MAX. 60 60

fims orn__ I - - = -
M=t Tl

MIN. 140
MAX. 190 200

140

ke ks ke
4 78
VEDENI BRANY HORNIi S JEDNODUCHOU VEDENI BRANY HORNI S DVOJITOU
REGULACI, CTYRKLADKOVE REGULACI, CTYRKLADKOVE
FOUR ROLLER GUIDE PLATE ADJUSTABLE FOUR ROLLER GUIDE PLATE

M Mmoo
e A—a
fimal jmal | it i ff J % f e 1@ \‘ ] \‘Jn:rh
4+ | = H=—1
— — = = X, 250 350

i
E
2
H
o
g
N




